



---

## ANTIDERIVATIVES AND INTEGRALS INVOLVING INCOMPLETE BETA FUNCTIONS WITH APPLICATIONS

R.ALAHMAD<sup>1,2</sup> AND H. ALMEFLEH<sup>1</sup>

*Received 25 February, 2020; accepted 28 August, 2020; published 15 October, 2020.*

<sup>1</sup> MATHEMATICS DEPARTMENT, YARMOUK UNIVERSITY, IRBID, JORDAN 21163, <sup>2</sup> FACULTY OF ENGINEERING, HIGHER COLLEGES OF TECHNOLOGY, RAS ALKHAIMAH, UAE.  
rami\_thenat@yu.edu.jo

**ABSTRACT.** In this paper, we prove that incomplete beta functions are antiderivatives of several products and powers of trigonometric functions, we give formulas for antiderivatives for products and powers of trigonometric functions in term of incomplete beta functions, and we evaluate integrals involving trigonometric functions using incomplete beta functions. Also, we extend some properties of the beta functions to the incomplete beta functions. As an application for the above results, we find the moments for certain probability distributions.

*Key words and phrases:* Beta functions; Incomplete beta functions; Probability distributions.

*2010 Mathematics Subject Classification.* 33B15.

## 1. INTRODUCTION

The theory of special functions have many applications, see [6]- [11]. In particular, it is needed to construct and to prove many properties of probability distributions ( e.g. the moments for certain probability distributions), see [1]- [4]. As an application for special functions is to find the antiderivatives of products and powers of trigonometric functions, which are not always easy to find. In this paper, we show that the antiderivatives for products and powers of trigonometric functions can be found using incomplete beta functions. Moreover, we apply these findings to certain probability distributions.

**Definition 1.1.** *The incomplete beta function, which is a generalization of the beta function, is defined as follows: for  $0 \leq x \leq 1$ ,  $\Re(s) > 0$  and  $\Re(t) > 0$*

$$\beta(s, t; x) = \int_0^x u^{s-1}(1-u)^{t-1} du.$$

and let

$$I(s, t; x) = \frac{\beta(s, t; x)}{\beta(s, t)}.$$

Clearly,  $\beta(s, t, 1) = \beta(s, t)$  and  $I(s, t; 1) = 1$ .

**Proposition 1.1.** *For  $0 \leq x \leq 1$ ,  $\Re(s) > 0$  and  $\Re(t) > 0$ , we have*

$$\beta(s, t; x) = 2 \int_0^{\arcsin(\sqrt{x})} \sin^{2s-1}(\theta) \cos^{2t-1}(\theta) d\theta.$$

*Proof.* The substitution  $u = \sin^2(\theta)$  gives

$$\beta(s, t; x) = \int_0^x u^{s-1}(1-u)^{t-1} du = 2 \int_0^{\arcsin(\sqrt{x})} \sin^{2s-1}(\theta) \cos^{2t-1}(\theta) d\theta.$$

■

## 2. INCOMPLETE BETA FUNCTIONS AS ANTIDERIVATIVES FOR PRODUCTS AND POWERS OF TRIGONOMETRIC FUNCTIONS

**Theorem 2.1.** *For  $0 \leq x \leq 1$ ,  $\Re(s) > 0$  and  $\Re(t) > 0$ . The antiderivative of  $\sin^{2s-1}(x) \cos^{2t-1}(x)$  is  $\frac{1}{2}\beta(s, t, \sin^2(x))$ .*

*Proof.*

$$\frac{d}{dx} \left( \frac{1}{2} \beta(s, t, \sin^2(x)) \right) = \frac{1}{2} \frac{d}{dx} \left( \int_0^{\sin^2(x)} u^{s-1}(1-u)^{t-1} du \right) = \sin^{2s-1}(x) \cos^{2t-1}(x).$$

■

**Corollary 2.2.**  $\int \sin^{2s-1}(x) \cos^{2t-1}(x) dx = \frac{1}{2} \beta(s, t; \sin^2(x)) + C$ , where  $C$  is arbitrary constant.

**Corollary 2.3.**

$$\int_a^b \sin^{2s-1}(\theta) \cos^{2t-1}(\theta) d\theta = \frac{1}{2} (\beta(s, t, \sin^2(b)) - \beta(s, t, \sin^2(a))).$$

The above result gives the well-known result

$$\int_0^{\pi/2} \sin^{2s-1}(\theta) \cos^{2t-1}(\theta) d\theta = \frac{1}{2} (\beta(s, t; \sin^2(\pi/2)) - \beta(s, t; \sin^2(0))) = \frac{1}{2} \beta(s, t).$$

**Theorem 2.4.** For  $\Re(s) > -1$ . The antiderivative of  $(a \sin(x) + b \cos(x))^s$  is  $\frac{(a^2+b^2)^{s/2}}{2} \beta(\frac{s+1}{2}, \frac{1}{2}; \sin^2(x + \phi))$ , where  $\phi$  is the angle for which  $\cos(\phi) = \frac{a}{\sqrt{a^2+b^2}}$  and  $\sin(\phi) = \frac{b}{\sqrt{a^2+b^2}}$ .

*Proof.*

$$\begin{aligned} \frac{d}{dx} \frac{(a^2 + b^2)^{s/2}}{2} \beta\left(\frac{s+1}{2}, \frac{1}{2}; \sin^2(x + \phi)\right) &= \frac{(a^2 + b^2)^{s/2}}{2} \frac{d}{dx} \left( \int_0^{\sin^2(x+\phi)} u^{\frac{s-1}{2}} (1-u)^{\frac{-1}{2}} du \right) \\ &= (a^2 + b^2)^{s/2} \sin^s(x + \phi) \\ &= (a^2 + b^2)^{s/2} (\cos(\phi) \sin(x) + \sin(\phi) \cos(x))^s \\ &= (a^2 + b^2)^{s/2} \left( \frac{a}{\sqrt{a^2 + b^2}} \sin(x) + \frac{b}{\sqrt{a^2 + b^2}} \cos(x) \right)^s \\ &= (a \sin(x) + b \cos(x))^s \end{aligned}$$

■

**Corollary 2.5.**  $\int (a \sin(x) + b \cos(x))^s dx = \frac{(a^2+b^2)^{s/2}}{2} \beta(\frac{s+1}{2}, \frac{1}{2}, \sin^2(x + \phi)) + C$ , where  $C$  is arbitrary constant and  $\phi$  is the angle for which  $\cos(\phi) = \frac{a}{\sqrt{a^2+b^2}}$  and  $\sin(\phi) = \frac{b}{\sqrt{a^2+b^2}}$ .

**Corollary 2.6.**

$$\begin{aligned} &\int_{\gamma}^{\delta} (a \sin(\theta) + b \cos(\theta))^s d\theta \\ &= \frac{(a^2 + b^2)^{s/2}}{2} \left( \beta\left(\frac{s+1}{2}, \frac{1}{2}, \sin^2(\delta + \phi)\right) - \beta\left(\frac{s+1}{2}, \frac{1}{2}, \sin^2(\gamma + \phi)\right) \right). \end{aligned}$$

where  $\phi$  is the angle for which  $\cos(\phi) = \frac{a}{\sqrt{a^2+b^2}}$  and  $\sin(\phi) = \frac{b}{\sqrt{a^2+b^2}}$ .

This corollary proves the following Proposition

**Proposition 2.7.**

$$\int_{-\phi}^{\frac{\pi}{2}-\phi} (a \sin(\theta) + b \cos(\theta))^s d\theta = \frac{(a^2 + b^2)^{s/2}}{2} \beta\left(\frac{s+1}{2}, \frac{1}{2}\right),$$

where  $\phi$  is the angle for which  $\cos(\phi) = \frac{a}{\sqrt{a^2+b^2}}$  and  $\sin(\phi) = \frac{b}{\sqrt{a^2+b^2}}$ .

*Proof.*

$$\begin{aligned} \int_{-\phi}^{\frac{\pi}{2}-\phi} (a \sin(\theta) + b \cos(\theta))^s d\theta &= \frac{(a^2 + b^2)^{s/2}}{2} \left( \beta\left(\frac{s+1}{2}, \frac{1}{2}, \sin^2\left(\frac{\pi}{2}\right)\right) - \beta\left(\frac{s+1}{2}, \frac{1}{2}, \sin^2(0)\right) \right) \\ &= \frac{(a^2 + b^2)^{s/2}}{2} \beta\left(\frac{s+1}{2}, \frac{1}{2}\right). \end{aligned}$$

■

**Example 2.1.**

$$\int_{-\frac{\pi}{3}}^{\frac{\pi}{6}} \sqrt{\sin(\theta) + \sqrt{3} \cos(\theta)} d\theta = \frac{(4)^{1/4}}{2} \beta\left(\frac{3}{4}, \frac{1}{2}\right) \approx 1.69443.$$

### 3. ADDITIONAL PROPERTIES OF INCOMPLETE BETA FUNCTIONS

**Theorem 3.1.** For  $\Re(s) > 0$ ,  $\Re(t) > 0$  and  $r_1 \leq a < b \leq r_2$

$$\int_a^b (x - r_1)^{s-1} (r_2 - x)^{t-1} dx = (r_2 - r_1)^{s+t-1} \left[ \beta\left(s, t; \frac{b - r_1}{r_2 - r_1}\right) - \beta\left(s, t; \frac{a - r_1}{r_2 - r_1}\right) \right].$$

In particular,

$$(3.1) \quad \int_{r_1}^{r_2} (x - r_1)^{s-1} (r_2 - x)^{t-1} dx = (r_2 - r_1)^{s+t-1} \beta(s, t).$$

*Proof.* Using the substitution  $w = \frac{x - r_1}{r_2 - r_1}$ , we get

$$\begin{aligned} \int_a^b (x - r_1)^{s-1} (r_2 - x)^{t-1} dx &= \int_{\frac{a - r_1}{r_2 - r_1}}^{\frac{b - r_1}{r_2 - r_1}} ((r_2 - r_1)w)^{s-1} (r_2 - r_1 - (r_2 - r_1)w)^{t-1} (r_2 - r_1) dw \\ &= (r_2 - r_1)^{s+t-1} \int_{\frac{a - r_1}{r_2 - r_1}}^{\frac{b - r_1}{r_2 - r_1}} w^{s-1} (1 - w)^{t-1} dw \\ &= (r_2 - r_1)^{s+t-1} \left( \beta\left(s, t; \frac{b - r_1}{r_2 - r_1}\right) - \beta\left(s, t; \frac{a - r_1}{r_2 - r_1}\right) \right). \end{aligned}$$

Now, choose  $b = r_2$  and  $a = r_1$  to get the particular case. ■

This theorem gives the following representation of the incomplete beta functions

**Corollary 3.2.**

$$\beta(s, t; \xi) = \frac{1}{(r_2 - r_1)^{s+t-1}} \int_{r_1}^{r_1 + (r_2 - r_1)\xi} (x - r_1)^{s-1} (r_2 - x)^{t-1} dx.$$

**Theorem 3.3.** For  $\frac{r_1 + r_2}{2} = \bar{r} \leq a < b \leq r_2$ ,  $\Re(s) > 0$ , and  $\Re(t) > 0$

$$\begin{aligned} &\int_a^b (x - r_1)^{s-1} (x - \bar{r})^{t-1} (r_2 - x)^{s-1} dx \\ &= \frac{1}{2} \left( \frac{r_2 - r_1}{2} \right)^{2s+t-2} \left[ \beta\left(s, \frac{t}{2}; \left( \frac{2(b - \bar{r})}{r_2 - r_1} \right)^2 \right) - \beta\left(s, \frac{t}{2}; \left( \frac{2(a - \bar{r})}{r_2 - r_1} \right)^2 \right) \right]. \end{aligned}$$

In particular,

$$\begin{aligned} \int_{r_1}^{\bar{r}} (x - r_1)^{s-1} (\bar{r} - x)^{t-1} (r_2 - x)^{s-1} dx &= \int_{\bar{r}}^{r_2} (x - r_1)^{s-1} (x - \bar{r})^{t-1} (r_2 - x)^{s-1} dx \\ &= \frac{1}{2} \left( \frac{r_2 - r_1}{2} \right)^{2s+t-2} \beta\left(s, \frac{t}{2}\right). \end{aligned}$$

*Proof.* Using the substitution  $w = \left( \frac{2(x - \bar{r})}{r_2 - r_1} \right)^2$  and the fact that

$$\bar{r} - r_1 = r_2 - \bar{r} = \frac{r_2 - r_1}{2},$$

we get that

$$\begin{aligned} & \int_a^b (x - r_1)^{s-1} (x - \bar{r})^{t-1} (r_2 - x)^{s-1} dx \\ &= \int_{\left(\frac{2(a-\bar{r})}{r_2-r_1}\right)^2}^{\left(\frac{2(b-\bar{r})}{r_2-r_1}\right)^2} \left(\bar{r} - r_1 + \frac{r_2 - r_1}{2} \sqrt{w}\right)^{s-1} \left(\frac{r_2 - r_1}{2} \sqrt{w}\right)^{t-1} \left(r_2 - \bar{r} - \frac{r_2 - r_1}{2} \sqrt{w}\right)^{s-1} dw \\ &= \frac{1}{2} \left(\frac{r_2 - r_1}{2}\right)^{2s+t-2} \int_{\left(\frac{2(a-\bar{r})}{r_2-r_1}\right)^2}^{\left(\frac{2(b-\bar{r})}{r_2-r_1}\right)^2} (1 - w)^{s-1} w^{\frac{t-1}{2}} dw. \end{aligned}$$

Now, choose  $b = r_2$  and  $a = \bar{r}$  to get the particular case

$$\int_{\bar{r}}^{r_2} (x - r_1)^{s-1} (x - \bar{r})^{t-1} (r_2 - x)^{s-1} dx = \frac{1}{2} \left(\frac{r_2 - r_1}{2}\right)^{2s+t-2} \beta\left(s, \frac{t}{2}\right).$$

■

Now, following the same proof with  $\sqrt{w} = \frac{2(\bar{r}-x)}{r_2-r_1}$  to prove the assertion

$$\int_{r_1}^{\bar{r}} (x - r_1)^{s-1} (\bar{r} - x)^{t-1} (r_2 - x)^{s-1} dx = \frac{1}{2} \left(\frac{r_2 - r_1}{2}\right)^{2s+t-2} \beta\left(s, \frac{t}{2}\right).$$

**Example 3.1.** using  $r_1 = 1, r_2 = 3, s = t = 3/2$  and  $\bar{r} = 2$  to get that

$$\int_2^3 \sqrt{6 + 6x^2 - 11x - x^3} dx = \int_2^3 \sqrt{(3 - x)(x - 2)(x - 1)} dx = \frac{1}{2} \beta(3/2, 3/4).$$

Also, using  $r_1 = -1, r_2 = 3, t = 7, s = 1/2$  and  $\bar{r} = 1$  to get that

$$\int_{-1}^1 \frac{(1 - x)^6}{\sqrt{3 + 2x - x^2}} dx = \int_{-1}^1 (1 - x)^5 (3 - x)^{-1/2} (1 + x)^{-1/2} dx = \frac{1}{2} (2)^6 \beta(1/2, 7/2) = 10\pi$$

#### 4. THE INCOMPLETE BETA FUNCTIONS AND THE GENERALIZED ARCSINE RANDOM VARIABLES

As applications for the results in the section, we prove many properties of the generalized arcsine random variable with bounded support

**Definition 4.1.** The random variable  $X$  has a **generalized arcsine random variable with bounded support** if the probability density function is

$$(4.1) \quad f_X(x) = \frac{((x - r_1)(r_2 - x))^{s-1}}{(r_2 - r_1)^{2s-1} \beta(s, s)}, r_1 < x < r_2.$$

The above argument shows that this function is a valid density function. As a special case, when  $r_1 = 0, r_2 = 1,$  and  $s = 1/2,$  the generalized arcsine random variable  $X$  is said to have the standard arcsine distribution, i.e.,  $X$  has the probability density function  $f$  given by

$$f_X(x) = \frac{1}{\pi \sqrt{x(1 - x)}}, x \in (0, 1).$$

In addition, in Equation 4.1, if  $s = 1/2$  then this distribution is called **the arcsine probability distribution with bounded support** ( see [5]). For similar probability distributions related to gamma functions, see [1], [2], and [3].

Using Theorem 3.1 we have the result

**Lemma 4.1.** *If  $X$  has generalized arcsine random variable with bounded support, then the distribution function  $F_X(x)$  of  $X$  is given by*

$$\begin{aligned} F_X(x) &= I\left(s, s; \frac{x - r_1}{r_2 - r_1}\right) \\ &= \frac{1}{2^{2s-1}\beta(s, s)} \int_0^{2\arcsin\left(\sqrt{\frac{x-r_1}{r_2-r_1}}\right)} \sin^{2s-1}(\theta) d\theta, \quad r_1 \leq x \leq r_2 \\ &= \frac{1}{4^{s-1}\beta(s, s)} \int_0^{\arcsin\left(\sqrt{\frac{x-r_1}{r_2-r_1}}\right)} \sin^{2s-1}(2\theta) d\theta, \quad r_1 \leq x \leq r_2. \end{aligned}$$

**Theorem 4.2.** *The central moments  $\mu_n = E(X - \bar{X})^n$  of a random variable with the generalized arcsine distribution with bounded support are*

$$\mu_n = \frac{((-1)^n + 1)(r_2 - r_1)^n \beta\left(s, \frac{n+1}{2}\right)}{2^{2s+n}\beta(s, s)}.$$

*Proof.* Using (3.1)

$$\begin{aligned} \bar{X} = E(X) &= \int_{r_1}^{r_2} x \frac{((x - r_1)(r_2 - x))^{s-1}}{(r_2 - r_1)^{2s-1}\beta(s, s)} dx \\ &= \int_{r_1}^{r_2} (x - r_1 + r_1) \frac{((x - r_1)(r_2 - x))^{s-1}}{(r_2 - r_1)^{2s-1}\beta(s, s)} dx \\ &= \frac{1}{(r_2 - r_1)^{2s-1}\beta(s, s)} \left( \int_{r_1}^{r_2} (x - r_1)^s (r_2 - x)^{s-1} dx + r_1 \int_{r_1}^{r_2} ((x - r_1)(r_2 - x))^{s-1} dx \right) \\ &= \frac{1}{(r_2 - r_1)^{2s-1}\beta(s, s)} ((r_2 - r_1)^{2s}\beta(s + 1, s) + r_1(r_2 - r_1)^{2s-1}\beta(s, s)) = \frac{r_2 + r_1}{2} = \bar{r}. \end{aligned}$$

Hence,

$$\begin{aligned} \mu_n = E(X - \bar{X})^n &= \int_{r_1}^{r_2} (x - \bar{X})^n \frac{((x - r_1)(r_2 - x))^{s-1}}{(r_2 - r_1)^{2s-1}\beta(s, s)} dx \\ &= \int_{r_1}^{r_2} (x - \bar{r})^n \frac{((x - r_1)(r_2 - x))^{s-1}}{(r_2 - r_1)^{2s-1}\beta(s, s)} dx \end{aligned}$$

Therefore,

$$\begin{aligned} \mu_n &= \frac{1}{(r_2 - r_1)^{2s-1}\beta(s, s)} \left( \int_{r_1}^{\bar{r}} (x - \bar{r})^n ((x - r_1)(r_2 - x))^{s-1} dx \right. \\ &\quad \left. + \int_{\bar{r}}^{r_2} (x - \bar{r})^n ((x - r_1)(r_2 - x))^{s-1} dx \right). \end{aligned}$$

Using Theorem 3.3,

$$\begin{aligned} \mu_n &= \frac{1}{(r_2 - r_1)^{2s-1}\beta(s, s)} \left( (-1)^n \int_{r_1}^{\bar{r}} (\bar{r} - x)^n ((x - r_1)(r_2 - x))^{s-1} dx \right. \\ &\quad \left. + \int_{\bar{r}}^{r_2} (x - \bar{r})^n ((x - r_1)(r_2 - x))^{s-1} dx \right). \end{aligned}$$

Therefore,  $\mu_n = \frac{((-1)^n + 1)(r_2 - r_1)^n \beta\left(s, \frac{n+1}{2}\right)}{2^{2s+n}\beta(s, s)}$ . In other words, for  $n \in \mathbf{N}$ , we have  $\mu_{2n-1} = 0$  and  $\mu_{2n} = \frac{(r_2 - r_1)^{2n} \beta\left(s, n + \frac{1}{2}\right)}{2^{2s+2n-1}\beta(s, s)}$ . ■

## 5. CONCLUSION

In this study, we have proved that incomplete beta functions are antiderivatives for products and powers of trigonometric functions. Also, additional properties of incomplete beta functions are proved. Using these additional properties of incomplete beta functions, we find the central moments of a random variable with the generalized arcsine distribution.

## REFERENCES

- [1] R. ALAHMAD, Products of incomplete gamma functions, *Analysis*, **36**(2015), No.3, pp. 199-203.
- [2] R. ALAHMAD, Products of Incomplete gamma functions Integral representations, *Math. Sci. Appl. E-Notes*, **4** (2016), No. 2, pp. 47-51.
- [3] R. ALAHMAD, Some bivariate gamma distributions, *J. Comput. Theor. Stat*, **2** (2016), No.3, pp. 49-53.
- [4] R. ALAHMAD AND A. ABDELHADI, Introduction to Fractional Calculus, 2019 Advances in Science and Engineering Technology International Conferences (ASET), Dubai, United Arab Emirates, 2019, pp. 1-5, doi: 10.1109/ICASET.2019.8714417.
- [5] M. HAZEWINKEL, *Encyclopedia of Mathematics*, Springer, ISBN 978-1-55608-010-4, 2001.
- [6] R. METZLER, J. KLAFTER and J. JORTNER, Hierarchies and logarithmic oscillations in the temporal relaxation patterns of proteins and other complex systems, *Proc. Nat. Acad. Sci.*, **96** (1999) No 20, pp. 11085-11089.
- [7] P. MORTERS AND Y. PERES, Brownian Motion, Vol. **30**, *Cambridge Series in Statistical and Probabilistic Mathematics*, 2010.
- [8] B. ALDER, S. FERNBACH, and M. ROTENBERG, *Methods in Computational Physics*, Academic Press, New York, pp. 1-45, 1963.
- [9] I. SHAVITT AND M. KARPLUS, Gaussian-transform method for molecular integrals I. Formulation for energy integrals, *J. Chem. Phys.*, **43** (1965), No 2, pp. 398-414.
- [10] D. SORNETTE, Multiplicative processes and power laws, *Phys. Rev. E*, **57**(1998), No 4, pp. 4811-4813.
- [11] N. TEMME, Uniform Asymptotic Expansions of the Incomplete Gamma Functions and the Incomplete Beta Function, *J. Math. Comp.*, **29** (1975), No 132, pp. 1109-1114.